Multiplying Integers (A)

Name:

9x10 =
18 X (—6) =
15% (=15) =
39 x (—36) =
26 X (—50) =
—5X%x15 =
3% (—49)=
10X 13 =
9Ix(—12)=
—20X (—41) =
-12x27 =
—21x(-9) =

—17 x (—19)

26 X 46 =
34 x (—44) =
—28 X 49 =
—49 x 45 =
341 =
—15x49 =
—1x(-13)=
—46 X (—46) =
—40x (—33) =
49 X (=24)=
—35x%(—36) =

—-33X26 =

Date:

Calculate each product.

1x44 =
—23 X (—26)=
47 x (—38) =
23 % (—10) =
22x15 =
38 x43 =
50%(—6) =
5% (—18)=
—32%x(-6) =
—16 X 47 =
14x34 =
25X (—44) =
—44 X 23 =
11 x 39 =
—-31x40 =
15x17 =
12x13 =
42 %12 =
—4 X (=20)=
—27x%x1 =
13X 36 =
—26X(—41)=
—15%x(=27)=
16 X 24 =

44 x (—40) =

-32%x(-7) =
—38%x(=23)=
—22%x37 =
—19x(—18) =
6% (—22)=
49x 3 =
—33X38 =
19X (—39) =
—-36X%X27 =
5% (—20)=
23x20 =
10x20 =
20% (=5) =
—3x(-37)=
—14x (—40)=
6 X33 =

-7%X20 =

21 x41
43 x (—36) =
43 x41 =
31 x41 =
13 x 31 =
—17 %29 =
—15x(—49) =

36 X (—25) =

Score:

—49 X 22 =
—35x(—12)=
15%x38 =

10x23

—10X%x43 =
41 x (—26) =
—-8xX10 =

—44 % (—-19) =
42 % 33 =
—8x(~=19)=
—4x4 =

—13x(-17) =
10 X (—=22) =
15x47 =

—20 % (—38) =
50x 14 =

—41 X 42 =
32x47 =

—10x43 =
25%13 =

—-49x1 =

—21x(—25)=

—-15x%x11 =
22 % (—15) =

—21 x (—47) =
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Multiplying Integers (A) Answers

Name:

Date: Score:

9x10 =

18 X (—6)

15% (=15) =
39 x (—36) =
26 X (—50) =
—5X%x15 =
3% (—49)=
10X 13 =
9Ix(—12)=
—20X (—41) =

—12 %27

—21x(-9)

—17 x (—19)

26 X 46 =
34 x (—44) =
—28 X 49 =
—49 x 45 =
341 =
—15x49 =
—1x(-13)=
—46 X (—46) =
—40x (—33) =
49 X (=24)=
—35x%(—36) =

—-33X26 =

Calculate each product.

90 1x44 = 44 —32%x(=7) = 224  —49x22 =-1078
~108  —23x(—26)= 598  —38x(—23)= 874  —35x(=12)= 420
—225 47%x(-38)=—1786 —22x37 = —814 15%x38 = 570
—1404 23%x(=10)= —230 —19x(—18)= 342 10x23 = 230
—1300 22%x15 = 330 6x(—22)= —132 —10%x43 = —430
~75 38x43 = 1634 49%x3 = 147 41 x (—26) = —1066
—147 50X (—6) = —300 —33x8 = —264 —8%x10 = —80
130 5x(—18)= —90 19%(=39)= —741  —44x(-19)= 836
—~108  —32x(=6) = 192  —36x27 = —972 42%x33 = 1386
820  —16x47 = —752 5% (—20)= —100 —8x(=19)= 152
—324 14x34 = 476 23%X20 = 460 —4x4 = —16
189 25 X (—44) = —1100 10x20 = 200 —13x(=17)= 221
323 —44x23 =-1012 20X (=5) = —100 10 X (—=22) = —220
1196 11x39 = 429 —3x(=37)= 111 15x47 = 705
—1496 —31x40 =-1240 —14x(—40)= 560  —20X(—38)= 760
—1372 15x17 = 255 6x33 = 198 50x14 = 700
—2205 12x13 = 156 —7%x20 = —140 —41x42 =-1722
34 42%x12 = 504 21x41 = 861 32x47 = 1504
—735 —4x(=20)= 80 43%x(=36)=—1548 —10%x43 = —430
13 —27x1 = =27 43x41 = 1763 25%13 = 325
2116 13%x36 = 468 31x41 = 1271 —49x1 = —49
1320 —26x(—41)= 1066 13x31 = 403  —21x(=25)= 525
1176  —15%x(=27)= 405  —17%x29 = —493 —15x11 = —165
1260 16Xx24 = 384  —15%x(—49)= 735 22 % (=15)= —330

—858 44 x (—40) = —1760 36 X (—25)= —900 —21 X (—47)= 987
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